S0NIC

squipmamt \\wmoomw - Truss head screw ( M6X12,stainless )

. 324018- HEX socket head cap
i \\..\woﬂms\ with washer ( M6X16 )

47283 - Pipe ( 60X30mm )
47376 - 26"Hanger board

47276 -
26"Cupboard

47272 - 24"Locker

\\ﬁmﬁ - Pipe ( 30X30mm )

320023 - Truss
head screw
(M6X12,stainless )

N

26"Cabinet frame

320202 - HEX socket head cap screw ( M8X20 )

47276 -
26"Cupboard

\\wmoomw - Truss head screw ( M6X12,stainless )

p . \\wmao:w. HEX socket head cap
320122 -M4.8X25 PR screw with washer (M6X16 )
Hexagon bolt with

flange screw

47283 - Pipe ( 60X30mm )
47276 - Y
\vmm..O:ucoma . 47376 - 26"Hanger board

47288 - 26"Closet
frame

47284 - Pipe (30X30mm)

320202 - HEX socket head
cap screw ( M8X20 )

. 47272 - 24"Locker

N

26"Skirting board

| 47275- 47310 - 24"Skirting
24"Skirting board side board 320122 -M4.8X25
Hexagon bolt with
flange screw

47279 - 52"Wooden

. 320023 - Truss
work plate

head screw
(M6X12,stainless )

47276 -
26"Cupboard

47389 - 26"Closet

47289 - 26"Skirting side board

board 47288 - 26"Closet
frame

47389 - 26"Closet side board

47279 - 52"Wooden 47289 - /

work plate 26"Skirting board 47975 -
24"Skirting board

/Aﬂﬁo - 24"Skirting
side board



